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MR. MICHAEL J. ROSCOE: Greg Mateja is a consulting actuary with CHALKE
Incorporated. He's been integral in the design of its PTS software. Currently, he's
involved in corporate modeling and strategic decision-making. I work as an actuary
for ITT in Hartford. I'm responsible for product developing, pricing of individual life
insurance products, as well as strategic planning for the individual life insurance
operation. This session will have two presentations. First, Greg will discuss the
concepts of expense allocation and a product costing methodology. I will then follow
with a simplified approach that utilizes these concepts within a traditional pricing
system.

MR. GREGORYM. MATEJA: I am going to focus on the analysisfacet of expense
management. I want to address some of the expense-management questionsthat
typicallycome up in conjunctionwith macropricing. I will show that analysisof
variableand overhead expensesfit into the macropricingframework,

I'm going to start out talking about expense characteristicsand the types of expense
analysis that can be done in a company environment. This will lead us into the
determinationof product costs, which will be the focus of my talk. 131define the
general proceduresthat you go through to allocate and determineproduct cost. Last,
we're goingto touch upon the use of the product cost-study results.

Some of the insurancecompany expenses that I've observed over the years include
overhead expense. These expensesdo not directlyvary with the number of products
that are sold,the number of policiesin force, or the average sizeof those products.
It's not a function or the amount of premium or the number of policiesthat you've
got. Overhead has a tendency to move in a stepwise fashion. It increasesand
decreasesin noticeable increments.

There are three types of expense-analysissystems that you can observe: accounting
systems, cost-center control systems, and product-costingsystems. Eachof these
have their own characteristicsand purposes. We frequentlyobserve companies using
an accountingsystem to determine their product cost, and that may not be the most
appropriatething to do.

An accountingsystem is characterizedby aggregationof all expenses. It looksat
expensesfor the entire company, a line of business,or, in some cases, a profit
center. All expenses are includedand, if necessary, allocated among more than one
businessunit. It's based on an accounting cycle and is performed at the convenience
of the accountingdivision,usuallyon a monthly, quarterly, or annual basis. As such,
it's very objective. It just measuresthe fact that the company spent X dollars.

Cost-center or operationalcontrol expense-managementsystems are important to a
department manager. _rRhin an insurancecompany, a good example of this kind of
system is the product-issue function. The manager of this group is very interested in
controlling the cost per policy issued. When you're developing a cost-center control
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system, you should focus only on controllable expenses. There's going to be little or
no allocation. This is key, because at this level, the manager is interested in the costs
under their control and how they impact the bottom line of that cost center. So they
need to focus only on those expenses that they can influence. Anything that's
a_locateddoesn't matter at this level; it's irrelevant to the manager's decision-making.
This type of analysis is going to be done on a relatively frequent cycle. It might be
weekly for an insurance company; for a manufacturing-type environment, it might be
daily or hourly. The focus is on the short term and how expenses vary from week to
week and from month to month. It's going to include beth fixed and variable
expenses, and it's going to be very objective, because there is little or no allocation.

When we get into the product-cost system, we're going to be talking about some-
thing that's very different. There's going to be substantial allocation, because you do
want to capture expenses from across the organization. There's going to be a
relatively infrequent cycle. It's unlikely to occur more frequently than annually. It
might even be every 18 or 24 months. When you undertake this kind of analysis,
virtually all expenses are viewed as being variable. Because of the allocation and
relative infrequency, there's going to be a lot of subjectivity involved in a product-cost
study. So the results are going to be much less objective than those for the other
types of systems mentioned.

I'm going to review the purposes of each of the three types of systems before
moving on. An accounting expense system is part of your accounting cycle and is
required for your financial statements. Cost-center expense systems are at an
operational control level and are used by a department to maximize efficiency.
Product-costing expense analysis is part of your product cycle and impacts strategic
decision making and product development.

An often asked question is, "Why is product costing important?" The answer is that
distortions in product costing will usually lead to ill-informed or ill-advised pricing and
strategic decisions. What you will likely find is that a product-cost study shows that
seemingly unprofitable products are in fact very profitable, and that seemingly
profitable products are among the least profitable. Most distortions occur due to the
substitution of complex, relatively low-volume products by simpler higher-volume
products.

One of the byproducts of the distortions that I talked about is that this often results in
a tendency to increasethe number of products that the company offers or to increase
the complexity of the products that are offered. This leeds to rapid growth in
overhead and subsequentlyreduced profitability. One example that I thought of along
these linesis the mutual company introductionof integrated dividend-type riders
during the mid-1980s. Many companiesintroduced productsthat were very com-
plex. Many of the companies I'm familiarwith saw a large increasein overhead that
wasn't always offset by an increasein volume.

If you were to look at some typical productsthat an insurancecompany might have,
you might beginwith a portfoliowith a whole-lifeproduct, a term-insuranceproduct,
an annuity, and a universallife product. Eachof these has its own degree of
complexity and requiresdifferent levelsof overhead support. Thus, it's appropriate to
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examine the amount of overhead that each requires and reflect these differences in
your decision-making process.

When you're done with your product-based expense analysis, you use it for strategic
decision-making. It provides superior information for the development and pricing of
new products. You can and should design your study so that additional analysis is
possible. For example, you may analyze expenses by distribution channel, market,
product, and product line. This is information that isn't always available to most
companies today or is distorted by the accounting allocations that occur. Ultimately,
the goal of any type of expense analysis is to increase your profitability. The distor-
tions that occur with traditional expense analysis make this objective difficult at best.

In a traditional product-costing environment, you focus on allocation of expenses to
policies, to units, and to premium. That's the way most companies that I'm familiar
with do their allocation of expenses. A few use some of the techniques that I'm
going to be talking about. In real life, there are relatively few expensesthat vary
directlywith units or premiums, as would be impliedin a "traditional"study. I've
noted a few here: underwriting,policy issue, and administTation. These are directly
related to the amount of businessthat you have or that you sell. Thus, one of the
major problemswith resultsfrom traditionalproduct-cost studies is the difficulty of
interpretingresults. It's hard for peopleto understandwhat 2% of premium for or 37
cents per unit means when they are trying to make decisions.

I'm goingto be talking about a methodology-termed,activity-basedproduct costing.
This is an approachthat a gentlemanat Harvard by the name of Robert Kaplan has
written extensively about in the Harvard Business Review. His work is primarily with
the manufacturing sector, but he does mention the service sector a little. We have
studied his work and believe that it does have wide applicability across many indus-
tries. The key with this approach is to focus on the activities that use resources and
the events that drive them. The goal is to get something that's easier to interpret and
act upon. A degree of allocation still exists, and one of the objectives is to make the
allocations more meaningful. The example I have is legal expenses related to product
development. They differ greatly if you're developing a simple term-insurance
product, a whole-life product, or a complex vadable universal life product. You should
take this degree of complexity into account when determining your expense assump-
tions. For example, I have $20,000 of legal expenses for the simple product and
$70,000 for a more complex one. The numbers in this example may not be realistic,
but the point is that simpler products cost less to manage and develop.

When you go through your expense study and you're in the process of allocating
costs, you want to use the long-run variable costs. You want to start with your
larger expense items or expense centers and work toward the smaller ones. For
example, if you've got a corporate department that spends $1 million a year, you
want to figure out what drives this expense. You want to concentrate on resources
that vary by product or product line. A good example of that might be an in-force
proposal system. Most companies have one, but It's seldom used with term prod-
ucts. For your plain vanilla products, it may be used infrequently, but on your popular
business or more complex products, it may be used on a very regular basis.
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As you go through this process, you want to determine the drivers for each expense.
What is it that each cost center does? What functions or activities done by others
drives their activity? For product development, you can look at the number of
repricing, the number of new products, and the amount of field support done. You
can allocatethe cost of your product-developmentdepartment based on these
factors. Your corporate department is doing review and analysis,and it is often
respondingto external events. It's always hardto predict exactly what's going to
happen externally, but to the extent to which you can determinethe cost of that, it's
probably somethingyou want to know about. Your legal expense is often driven by
new products, claims, and compliance.

In your pricingor developmentprocess,your presidentmay spend a couple hours
reviewinga simple product or severalweeks reviewingand analyzinga substantially
new or revisedproduct. You shouldtake that relationshipinto account directlyin
your pricing process, by allocatingmore expense to the more complex product.
When you determine allocations,you want to do so basedon these drivers, rather
than on a per-unitor per-policybasis. Forexample, much of your overheadexpense
may be driven by activity related to new products as opposedto the premium that
you receive. Another driver might be product repricingthat may come about due to
valuationactuary requirementsand the expanded modeling that most companiesare
now doing. There is overhead here that does vary by product category. You have to
make subjectivedeterminationsof complexitiesand relative costs between products.
I cannot stand here and say that X% goesto this and Y% goes to that. You have to
look at it and use your judgment.

If you look at the different productsthat you might have in your portfolio- term,
whole life, universal life, variable whole life, interest-sensitivewhole life, and

annuities- the costs and the allocationsare going to be different for each one. You
want to remember that products that are complex and more difficult to administer
and developtend to use greater amountsof overhead expenses.

Two kindsof expensesshouldbe ignoredwhen you're doing a study likethis. The
first is the cost of operation at other than an optimal capacity. Forexample, assume
two companies have the same edministrativesystem. If one is operatingat full
capacity and the other at 50% capacity, the cost per policyin force might appear to
be twice as high for the one company. If they're usingthe same system and they
have similarpeople, it doesn't make sense for one to have that kind of a cost
advantage over the other. So, you need to really focus on what your true, long-run
cost is for each function.

The second type of cost to ignoreis the cost of long-termfundamental researchand
development. That would be somethinglikean entirely new or innovativeproduct.
The examplesthat come to mind would be the first companies that developed
universallife or variableuniversallife.

When you're done with your productcost study, you want to smelltest the results.
You want to look at them and ask, do they make sense? Do the more complex
products actually have more expensesallocatedto them? Does the relationshipto
the existing expenses make sense? Do your agents and marketing personnel accept
the relative complexity indicatedby your results?
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Another way to test your results is to compare your internal cost to the cost of
external providers. For some functions, it's easy. For others, it's virtually impossible.
You can get quotes on legalservicesand compare these to the internalcost. You
can go through your data processingdepartment the same way. If it costs you $50
an hour to get support from someoneto help you work with Lotus or WordPerfect,
you may be ableto do better externally.

Usually,you can't get informationabout your competitor's expenses, but you can
sometimes get it indirectlyby lookingat their product costing or the decisionsthat
other companies have made regardingentry or exit from a market.

An expense study or product-coststudy is just another management tool. Tools in
and of themselves don't have much value unlessthey're used. A product-cost study
providesan opportunity for management to increaseprofitability. These potential
gainswon't be realizedunless the resultsare acted upon. It's important to realize
that you've got a tool here that can provideyou with a lot of information. It can help
you to increasethe profitabilityof your company, but you will not realizethe potential
gainsunlessyou act on the results.

Normallyone of the first thingsyou do is examine your pricingstrategies in light of
your expensestudies. Sometimes this means raisingpricesfor productsthat requirea
lot of overhead and vice versa for productsthat don't requirea lot of overhead. You
may want to refine your product mix and your customer strategies. The result is
more equitable treatment and lesssubsidization. If you operate in a boutique market,
where you have relativelysmallvolume and are a specialtyprovider,you can often
raiseprices and have very little impact upon volume.

The secondtype of action that you can take is to reduce resourcesrequiredfor the
various activities. If your legal or actuarialexpensesseem highrelativeto outside
sources,or what you believecompetitors pay for similarservices, you can work on
that. Management can work on making those thingscost lessover time, but you've
got to realize that if you free up $50,000 of legal expenses, that per se, is not going
to increaseyour profitability,because this is an allocated overheaditem. Unlessyou
use those resourcesto somehow expand your revenue or you eliminatethose
resources,you're not going to seethat $50,000 flowing through to the bottom line.

When you go through this process, you want to focus on the long term. You want
to think about where it is you want to be, what the long-termcosts are now, and
where you want to get them to. Last, It's very important that you don't rush to
eliminate a largenumber of employees, products, or customers, because most of you
have a fair amount invested in them. If this study says that a whole line is very
expensivefor you, before you rushto eliminate that line,you ought to see if there are
some other thingsyou can do.

When it comes to the time to make expenseassumptionsfor pricingor managing in
force, start with the direct unit and policycosts. You want to add the appropriate
allocated costs, includingdirectlyattributable overhead. These shouldbe based on
the complexity of the product(s)and projecteduse of overhead. For modeling
purposes,these are generally macroexpenses. It's phrased interms of aggregate
dollarsand might be something like the cost of developinga new product is
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$250,000. This is made up of $X for legal, $Y for actuarial, and $Z for changes to
the administrative system. Mike will be talking about determining the required
production volume or critical mass that's necessary under this type of a decision-
making process.

I'd like to just close with some important points to remember. Allocate expenses
based on the activities that drive them. To the extent possible, take this into account
in your decision-making process. After completing a product cost study, act upon the
results to optimize your prices or product mix and to reduce the resources required to
perform tasks where appropriate. The savings identified will be illusory unless freed-
up resources are either eliminated or employed in other endeavors. Remember that
only long-term variable expenses are relevant to the decision-making process.

MR. ROSCOE: How many of you are either currently or formerly involved in product
development and pricing? How many of you do a unit-based pricing approach in
which you use an asset share or something like that where you're only looking at one
policy? (A good proportion of those who had their hands up earlier.) How many of
you then, with this unit base approach, have a target profit objective set by manage-
ment or your parent, (e.g., internal rate of return or present-value book profits) that's a
unit-based profit objective?

FROM THE FLOOR: Versus what?

MR. ROSCOE: Unit based; such as using an asset-share program, where you're
looking at one policy (e.g., male, 45-year-old).

FROM THE FLOOR: What is the alternative?

MR. ROSCOE: An alternative would be saying we want to make $500,000 of profit
from this product line. tt would be an aggregate level of profit or macropricing, a
term well used by CHALKE Incorporated. I'm going to try to give an example that
relates to unit-based pricing. How many of you who have been involved in pricing
and product development believe that ultimately the price is set by the market?

This talk is going to generally relate to those of you who believe you've developed a
product in which the price has been determined by the market or competition. When
you have this type of scenario -- price determined by the market - profitability is mea-
sured on a unit basis with a target objective, there's really no way of knowing
whether you've made your target objective, unless you're able to reach the appropri-
ate number of units. That's what we're going to talk about: critical mass, which is
the appropriate number of units to meet your target profitability objective. It doesn't
necessarily mean it's the right number of units to reach, but if you're telling manage-
ment that you're going to get a 15% return on equity, this will help you measure
how many units you have to have to get there.

If we look at traditional unit-based pricing, those of you who have done it will have a
pricing assumption for your expenses. I like to refer to these as unit-based pricing
allowables. Typically, these expense assumptions will be broken down into categories
such as sales acquisition, underwriting, or maintenance. The expenses behind those
assumptions, the actual underwriting expense or actual sales acquisition expense,
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tend to be described as variable or fixed. Some people use the terms direct and
indirect, marginal and overhead. For purposes of this discussion, when I refer to
variable, I'm referring to expenses that vary with the number of units, because we're
doing a unit-based approach here. Greg had talked about considering almost all
expenses variable. To the extent you're talking about a product line expenses
allocated to that product line should be considered variable. Altematively, we can
consider the concept of allocated overhead. I'm referring to variable or marginal
expenses on one hand that vary with the number of units, and the rest of the
expenses are going to be considered allocated overhead.

If we look at our pricing allowables (i.e., the expense assumptions within the asset
share), they can be described as a percentage of premium, dollars per policy, or
dollars per thousand of face amount. It is possible to derive a simple little formula
that says the allowable less our marginal unit expense is equal to the contribution to
allocated overhead. Let's expand this a little bit further. If we believe that the price
may be determined by the market, then on a unit basis we can develop this formula:
establish revenue as the price being established by the market; use our actuarial
formulas to determine the amount to subtract for benefits and change in reserves;
subtract our marginal expenses per unit; determine the taxes; and finally subtract our
profit objective on the per-unit basis. It is possible to do this and what's left over
becomes our contribution to allocated overhead.

Going back to the description of how expenses vary, it's fairly clear that if you follow
these concepts through, you'll come up with a contribution to allocated overhead that
will vary by the same types of categories: sales acquisitions; underwriting and issue,
and maintenance are a typical breakdown.

Greg had talked about allocated overhead by using the product-cost method to
allocate expenses. You can allocate actual overhead expenses to the same categories
used within the pricing analysis. That's what we're going to be talking about. I'm
going to use an example of a sales acquisition expense. I'm going to use an example
of sales acquisition expense that relates to my company (ITT Hartford). We have a
sales distribution force that is staffed by employees (i.e., account executives) located
throughout the country who provide assistance to independent agents. So at least
two individuals are involved in every sale, and as a result, there's quite a bit of
allocated overhead of that distribution system. I'm going to give you an example on
how this modified unit-based method works with the category of sales acquisition
expense. I'm going to introduce a concept that I call management premium. Without
having defined it, let me tell you how it was developed.

By using the formulas I presented earlier, we are able to develop a pricing allowable
for sales acquisition expenses. This is a real life example. Let's say that we price for
133% of premium to cover our sales acquisition expenses, and within those ex-
penses, we identify specific marginal per-unit expenses, the most common being
agent commissions. As we write in the state of New York, the amount we assume
here is 45%. We add in the Hartford employees who are working on it, and in this
case, they're making about 28% of premium on the sale. The Hartford office is
staffed by a manager who is compensated on every sale at a lower level percentage
just under 9%. We provide employee benefits that move up with their compensation.
So that's been determined to be a marginal expense. Our convention expense might
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be an allocated large-dollar amount of $1 million, but we feel very comfortable
considering it a marginal expense, because year in and year out it's almost always
4% of premium. There aren't any other sales acquisition expenses that we consider
marginal, to the extent they vary with the number of units (in this case, premium).
The bulk of the other expenses are home-office management, field-office rent, and
clerical support. They have been categorized as allocated overhead. Following the
math, we start with 133% of the premium as a contribution to overhead with these
factors, [133-45-28-9-7-4 =40]. Premium that comes from this type of sale has been
given a management premium factor of 100% or one. In other words, $1 of
management premium contributes $0.40 to sales acquisition overhead.

We'll find that this type of formula will differ by product and it will differ by distribu-
tion source. Obviously, we have more than one product out there, and I'm going to
show an example using just a simple universal life product with a term product.
Additionally, we have more than one type of agent. We have agents, we have
brokers, and we have general agents. The latter two receive overrides on commis-
sions. By using the same type of formulas, it's not necessary to pay attention to
what the numbers are, but just to the fact that they exist. We have the same base
40% of premium for universal life from an agent with different factors for other
products and producers. Notice that the universal product itself supports the same
amount of expense, 133%. The actual marginal expenses differ and therefore, the
contribution to overhead differs. Term is priced with a lower percentage of premium
and has its own set of factors. The management premium factors are basically the
relative measures of contribution to overhead by product and distribution source.

What we're going to do with these types of factors is determine the total amount of
management premium necessary for the contribution to overhead to equal the amount
of allocated overhead sales acquisition expense. If we're doing it on a maintenance
basis, we might have management policies. The point being, use management units
that are equal to actual units times the relative contribution to overhead for the case
at hand. To carry that example one step further, this is an example of what we use
at the Hartford for two different product lines and a series of different types of
agents. Different types of products have different types of agents associated with
them. You can be somewhat specific in your analysis by using the exact same sets
of formulas.

All this leads up to that one point that I was trying to get to and that is, what's
critical mass? Simply stated, it is the amount of business that you need to have to
meet your profit objective. This takes into account the fact that some expenses are
marginal (vary with the number of units), with the remainder of expenses considered
allocated overhead that does not vary directly with the number of units. Critical mass
is equal to the total allocated overhead expense divided by the contribution to
overhead per management unit.

Let's follow this prior example through, in which we have two products and three
types of agents. Let's say that we have an overhead expense for this distribution
system of $10 million. The amount of management premium necessary to cover
allocated expenses is $25 million as we get a contribution to overhead of 40% of
that number. How much production do you need to do it? There are many different
ways to get the amount of production necessary to achieve $10 million of

1292



EXPENSE MANAGEMENT

management premium. One example shows about $28 million worth of actual pre-
mium. If you remember, the management premium factors had a maximum of one;
some of the factors were less than one. Therefore, you need $28 million to get the
$25 million of management premium. Another example, with a slightly different mix
of business, shows that $30 million worth of premium gets you to the same $10
million worth of contribution to overhead.

Another way to present this type of information is to show the amount of premium
by product and by agent. The first example shows that the bulk of production
(slightly over $5 million) is coming from the agent who writes universal life. The
second example shows most of the production coming from a general agency basis.

How do we tie all this back into the pricing and tie this back into the concepts Greg
talked about? If you assume that price is determined by the market, you don't really
have to. You're just doing a level of analysis for management to let it know whether
the company has reached its profit objective. On the other hand, if you believe that
you're in a situation where you can establish the price, you may want to follow the
same types of techniques, but relate the contribution to overhead to the overhead
actually required to generate that piece of business.

MR. HENRY B. RAMSEY II1: If you assume that the market sets the price of the
product and you allow your products to have different commissions or payments to
the distribution system as part of the product price, my inclination is to believe that as
your system evolves, the distribution people are going to say, "1 don't want to sell
that product over there; I'll only get 60%. I'll sell this product and I'll get 80%, and
the total that is available is going to be less for the company." You're going to be
driven toward the product with the lowest management premium rate. Why would
you want to design products where there's an incentive for the agent or the salesman
to sell one product? If you get a lower income on it after paying for that system as
opposed to trying to design it so that your management premiums are all equal and
you don't care if the agent gets paid, you get paid.

MR. ROSCOE: The way that we handle differing commission levels is that agent
commission relates inversely to the amount of support that the agent will receive from
the field staff. You gave an example of 60% versus 80%. The field staff does
provide a value added. They provide assistance with the sale. Basically, the agent
who is making 80% as opposed to 60% is getting less service from our field and
supposedly can do the business without that service. If we're not providing service,
we like to say that the piece of business is not overhead-intensive and therefore, it
doesn't need to cover as much overhead. In both cases, we've priced in our target
profit objectives plus a contribution to overhead that relates directly with the amount
of overhead required to support that sale. In other words, the agent cannot just
move from 60% to 80% without secrificing a certain amount of service, which in
turn frees up overhead on our part. That overhead should be invested wisely in new
business.

MS. CHERRI R. DIVIN: I assume that when you do this type of pricing you've
worked out very carefully the production levels required in each category, and some-
one in your organization must have made a marketing commitment that these
production levels would be reached. How do you validate those production levels
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required to produce net contribution of surplus? Do you do that on a year-by-year
basis?

MR. ROSCOE: When you say validate, do you mean after the fact, measure how
much production you have, or do you mean ahead of time?

MS. DIVIN: As you price each product and then go on from year to year, do you go
back and test that your assumptions were valid? That the production you expected
in each category met the requirements?

MR. ROSCOE: Basicallywhat we do in pricing(and this ties into the macropricing
concept) is the approach I describedearlier. We'll do it two- or threefold on a new
product, and we'll say product A requiresso much amount of businessto support its
overhead. Product B requires a little less business, and product C requires even less.
Once the product has been established and the price has been established, we then
measure the amount of production that comes in, and budgets are developed.
Budgets are stated by using management premium, not in terms of paid premium.
We believe that the marketing department, if they choose to focus on product A over
product B (universal life versus term, for example), or if they choose to focus on
heavily assisted sales of the regular agent type versus heavily unassisted of the
general agent type, that's their call. As long as they have committed to producing a
certain amount of management premium, given a certain amount of allocated
overhead expense, basically we're measuring their actual expenses and their manage-
ment premium results.

Is somebody's compensation dependent on how that turns out? The answer is yes.
Management premium is related directly to the amount of allocated overhead expense
and yes, compensation is tied to that.

MR. MATEJA" I was just going to add something about this type of product pricing.
Many companies do not have a direct tie-in as the Hartford does. So someone is not
on the hook compensationwise for producing X amount of product. What we
normally do in that situation is look at historical pricing. If a new universal life product
requires 30% more premium than has ever been sold in the past, that's an indication
that the goal might be a little unrealistic. If, on the other hand, it's 90% of something
that's previously been sold, that's a very good indication that it will easily be met.

FROM THE FLOOR: You must communicate these measurements to management
very clearly. I'm wondering how you communicate this, and I'm sure you probably
use different methods. If you price on a return-on-equity or a return-on-investment
method, and you use this contribution to overhead and maybe a percentage of
premium, the methods often producevery inconsistentanswers, especially if one
particularproduct requiresa seriouscontribution to surplus. Do you communicate all
these differentstandards to management, or do you just use one of these pricing
methods?

MR. ROSCOE: Our particulartarget objective is a returnon equity. We basically
follow that approachthat I described,where we put return on equity in as one more
marginalexpense, if you will, per unit. We end up with a productthat supports the
return on equity, allof its marginalexpenses, plus a certain contribution to overhead
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expense. You can actually then calculate that contribution to overhead on a unit
base, and in the example I gave it was 40% of premium. If we produce enough
premium, $25 million worth, where a 40% contribution to overhead exactly covers
our $10 million of allocated overhead expense, we get exactly our target return on
equity, assuming that other assumptions are in line; the other assumptions being
mortality, interest, taxes, and the like. Generally, we're pretty comfortable with those,
and our experience has been that the difference between our actual return and our
target is exactly the difference between our allocated overhead expense and our
contribution to overhead.

MR. GARTH A. BERNARD, SR.: You guys made that sound so easy. There are
some of the things that I'm struggling with still. First of all, you mentioned some of
the subjective things that go into allocation. In my experience, some of the difficulties
are, for example, when you say something is overhead, is it really overhead? How do
you define overhead? Overhead could actually be overhead only over a certain range
of production, but it may actually be variable outside of that range. Also, how do
you figure out some of these allocations between new business and in force? This is
a multiple-part question, as you can tell. When you have shared resources, for
example, you may have a system that's being shared by different product lines. Do
you have struggles with those types of allocationsas well? Some companies call it
target expenses in your pricing; the marginal pricing concept is a little dangerous.
When you talk about expense management, you always have to look back after the
fact and say, "Am I moving toward those target expenses?" In other words, you're
making so many assumptions and there's so much subjectivity involved, is it really
possible that, based on the methodology that you showed there, if you do meet
those target production levels, will you have accomplished the objective? I don't
know if that all made sense, but those are some of the questions that I have that
weren't necessarily answered in the presentation.

MR. MATEJA: Your first question relates to the definition of overhead, and I think
there are two types of overhead to distinguish. The first can be easily allocated to
the activities that drive it. The second and smaller portion is "pure" overhead and
appears to have no drivers. Over time, a well-developed product-costing system
should reduce this to a low level.

Examples of the first type of overhead include legal staff, the corporate department,
data processing, and the actuarial department. All of these are important to your
business. You need to datermine the drivers for each of these expenses and allocate
expenses based on those factors.

MR. BERNARD: One of the struggles there is if you ask two different people to go
through that process, you may come up with very different answers that are well
justified.

MR. MATEJA: Anytime you perform an exercise like this, you have to ask yourself a
question. What is the best way to do this job? Allocating all of the overhead
expense to percentage of premium is one way of going about the process. That's
the way many companies determine product costs. That's not the method that I
would recommend. You need to ask yourself how that compares to making a
subjective judgment about relative usage of overhead. Over time you can put
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systems in place to get a better handle on subjective allocations. I pick on the legal
department often, but many legal departments actually track their time, so it's very
easy to allocate legal costs to the activities that they perform.

MR. BERNARD: I agree with that, and the point that you're making there is you have
to have the appropriate systems and processes in place to make that type of alloca-
tion. That type of judgment is then easier to make.

MR. MATEJA: That's right. It's something you can grow into. It's not something
that I would expect any company to have on day one. There might be isolated
departments like legal or other service providers that may have a very good handle on
what it is that drives their costs. You can allocate those far easier than a department
that doesn't have that level of record keeping.

The next part of your question was allocation of expenses to in force versus new
business and across lines. Those were, to some extent, answered by my previous
statement. You've got to make some subjective estimates initially. Over time, you'll
be able to develop better allocations of these expenses.

MR. BERNARD: Actually, in my experience, sometimes when you actually sit down
and try to do these things, some of these calls are actually like a crack sheet. For
example, the in-force versus new business thing, it's very difficult to say this is...
When you say subjective, it could be anywhere. You could come out anywhere and
be perfectly justified in your final result.

MR. MATEJA: Could we make up an example and go through it? Would you like to
pick an example of a type of expense you're thinking of?

MR. BERNARD: Let's say you have an administrative system, and you're adminis-
tering new business as well as in force.

MR. MATEJA: There are certain direct costs that would be associated with putting a
new policy on the book. People are generally dedicated to the entry of the system.
Those expenses tend to be relatively easy to isolate. Then you're left with the
remainder of the expense, which is something that you have to look at based on the
capacity of the system, the functions being performed, and the activities driving the
usage. Determine whether there are multiple types of activities or whether there's a
single type of activity. For simplicity, assume all activity is driven by the number of
contracts in force. Look at the result and compare it to an estimate of the long-run
costs.

MR. BERNARD: I guess I wasn't really looking for you to directly answer the ques-
tion, because I think the point is, it's not necessarily a question that can be answered
directly. It will vary from one company to the next. It depends on how adminis-
trative functions are set up and things like that. Sometimes a specific person or a
specific job does multiple functions, and it's very difficult to split the pieces up.

MR. MATEJA: I agree. I've worked through this at a previous company. Trying to
get down to an extremely detailed level of expense allocation is a difficult,
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timeconsuming, and subjective process. It is something that evolves over time. I
don't think it's something that you can make the "right decision" about day one. You
need to make initial estimates and revise them, based on the reasonableness of the
results. It's really a process that evolves over time.

MR. ROSCOE: I want to reiterate what Grog said about taking a matter of time.
Going back to IT-F Hartford's experience on developing these, we've been at it for a
while, and we constantly reevaluate what we consider a marginal expense and what
we consider overhead. It's a balancing act in the sense that you don't want to
allocate too many expenses to a unit level, because many expenses aren't unit based.
On the other hand, they do vary with production in the aggregate, and it's a tough
balancing act. We have been reevaluating quite often. We feel comfortable right
now, but I'm sure there are going to be more changes. That ties into the target
expenses. The way we look at that is to consider the target expense, what I refer to
as the pricing allowable.

MR. BERNARD: So you're talking about your actual expense or something that
excludes?

MR. ROSCOE: Basically, the asset share tells us what we can spend to meet our
return-on-equity objective. We consider that to be our target expense, it's no
surprise that many companies in the industry today are spending more than their
target expense level. They say it's a competitive market and feel as they grow they
can get the unit costs down. Is that what you're referring to as the target expense?

MR. BERNARD: Yes. I felt that was dangerous in the sense that you always have to
be looking back to see how you progressed toward that target, and then you also
have to set up your reward systems and your management systems so that you drive
toward those targets. You could be operating away from that target permanently,
but your pricing would meet the target expenses.

MR. ROSCOE: That's why we developed these concepts of management premium
and management policies. We feel that we need to reach a certain level of produc-
tion, critical mass, and what we do is evaluate management on its ability to reach
that criticalmass. When we developthe target expenses, we look at three things.
The first is, do the target expensesexceed whatever we define as marginalexpense
on a unit basis? In the example I gave, the target expense was 133% of premium,
the marginalexpense came out to 93% of premium, and the answer was yes, it did
exceed it. If you're not exceeding marginalexpenses, you're in trouble.

The second is to considerwhether the amount of critical mass is achievable. Can we

get to $25 millionof premium? Can you get there? Does the market support it?
Does the operationhave the capacity to do that amount of business? The third is,
are there operatingefficienciesthat we are counting on? Do we expect to become
more efficient with time, and are those efficienciesreasonableor aggressive? If a
company can safely answer those three questions in a comfortable way, then it has
done a lot to mitigate the hazard of usingtarget expenses.

MR. BERNARD: The point is that in terms of presentingthis to management, make
sure that those thingsare being understood,as I think someone mentioned earlier.
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MR. MATEJA: That's correct. One of the things that I was trying to get at, which I
may have not made very clear, is the use of long-run expenses. Take the example
where you're getting into a new product line and purchasing a new administrative
system. You ramp up with a few employees to do that, and you have just incurred
$100,000 worth of ongoing overhead in the form of salaries. If you only sell 100
policies your first year and that $100,000 is allocated to those policies, you will get
unit expenses of $1,000 per policy. If you use this result in pricing, you're also not
going to sell very many policies in future years. You want to try to estimate from a
long-run perspective. For example, you might project that with these four employees,
the system can handle 50,000 policies. Your unit expenses suddenly become more
reasonable, and the result is a more appropriate expense to use in pricing and decision
making.

MR. BERNARD: I would like to share with you and elicit some comments from the
concept of pricing on a marginal basis, setting pricing on a marginal cost, the eco-
nomic concept, maximizing profits. That assumes that you know what the marginal
cost is. In terms of the subjectivity and so on, you don't necessarily know what the
marginal expense is. If you think of it as a random or unknown variable, to the
extent that you're setting price equal to estimated marginal cost, that does not
necessarily give you a decision-making framework that maximizes your profits. This is
why you have to keep looking back to see how good the estimate is and how good
the decision is.

MR. MATEJA: You're correct in that there is a lot of subjectivity involved in this.
There's a question of where you want your subjectivity to be; it can be either implicit
or explicit. Explicitly stating subjective assumptions improves the decision-making
process. For example, people can understand the assumption of $70,000 of legal
expenses much easier than they can understand that 1% of premium is being
assumed to cover these expenses. This ties in directly to the production consider-
ation vital to successful macropricing. The second point is, as Mike pointed out, and I
think some people agreed, to a great degree, price is set by the market so that it
comes down to the ability to manage your business as efficiently or more efficiently
than other companies. Expenses are a big part of that. Identifying resources that are
too expensive gives you something to focus on. Management can use this as a
starting point to help maximize long-term profitability.

FROM THE FLOOR: I've never been a big fan of what I understood to be activity-
based costing for a couple of reasons, and maybe part of it is that I don't understand
the purpose. I think it's very difficult and very subjective to try and measure people's
activities. It lets you pass something like legal department set-ups where they're
measuring rates, but they're setting their time up by hours, so you tend to make that
a snapshot. So I'm not sure it's easy to measure activities for general-service
providers, and even ff you can, I think from year to year what these different depart-
ments like legal or marketing spend their time on can change a lot. Just because you
introduce a particular new product one year, you don't want to allocate all of those
expenses to that one product just because the systems partners developed a new
system one year. You don't want to allocate a lot of money to the product for that
system and not allocate money to other products.
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MR. MATEJA: Let me take the second Part of your statement first: feeling uncom-
forcable about directly allocating expenses related to a new product. Successful
decision making requires that you recognize the expenses associated with new
products. If you're going to reprice your universal life portfolio, I don't think that the
rest of your business should pick up the expenses related to that activity. That is part
of the marginal cost associated with the new product, and you are much better off
explicitly taking that into account.

Take a simplified example. You've got five actuaries and their salades don't change
for three years. You have constant aggregate costs, but one year they might develop
five products; the next year they might develop ten; and the year after they might
develop three. The cost associated with developing each of those products should be
different. If you take a simple, annual, renewable term with guaranteed rates, it's
straightforward to develop, file, and administer. V_frthattained-ege rates, you have
100 numbers for each age and sex combination. Move on to something like a select-
and-ultimate term product with multiple bands, and you've got something that's far
more complex, it's going to take far more actuarial, filing and administrative resources
to develop. You can go on from there to more complex products, but the point is,
that your more complex products do use a larger amount of overhead and related
services. They should bear the cost of that service; otherwise, the simple products
tend to subsidize the more complex products.

To 9o back to your first question, which is the difficulty of doing this and tracking
what it is various people do, that is a very difficult topic. But initially, you can start
with very rough approximations. If you take the actuarial department, for example,
you can look at the amount of time that people spend per product. Measure it in
weeks over the course of the year and come up with some rough estimate of
expenses based on that. Take the total costs for the department. Say that this
product takes 20% of the time, and this other product takes 40% of the resources.
You can come up with a relative cost of actuarial product development for different
classes of product. When you start work on a new product, you'll have to use an
estimate based on the information you have. You'll have to project what the
appropriate macroexpense is associated with your actuarial department function.

MR. ROSCOE: It is difficult to do that type of allocation. It's important for a couple
of reasons, to at least make an effort, and as Greg said, put it on the table. Once
you put it on the table, you can always refine it, update it, and make it better. If you
don't put it on the table in the first place, you're going to lose a lot of value. In the
two places that I see that you have values, one can you be more efficient. Greg
gave the example, can the services that are being performed in house be gotten more
cheaply elsewhere? Wrthout at least taking a look at it, you'll never know. The
second is, can you achieve critical mass? For those companies that are falling short
of the profit objectives that management, or their parents, or owners have set for
them, management is probably also asking when you will get there, when you will
reach this target profit objective. It will help if you establish this concept of critical
mass. Basically, if you have a handle on your total expenses, if you know the total
expense for your entire operation, as long as you can allocate it and the sum of the
parts equals the total, you'll be able to answer the questions one way or the other. If
you don't know what your total expenses are, then you have another problem.
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MR. MATEJA: One of the other parts of this process that I have found to help is
examining these types of expenses at the aggregate level rather than on a unit level.
The result is usually a simpler decision-making process. A pricing process based on
aggregate expenses might take your product development time from six months to
two months, just because the information is in an easier-to-understand format. You
may also force some hard decisions to be made at higher levels. For example, you
might determine that a new product requires additional lawyers and other outside
support. If this costs $300,000, management can generally focus on decisions in
these terms more effectively than those framed as dollars per policy sold. Similarly,
stating that, based on previous product development history, a new product is going
to monopolize the actuarial staff for four months provides management with informa-
tion necessary for making better decisions.

MR. JOHN R. GERMANN: I have a follow-up question on the ROE. I'm intrigued by
how one can come up with a formula that takes into account the allocation of surplus
to particular departments, let alone product lines. Mike, I wish you'd expand a little
bit on how you build that into, I assume, the pricing premium and how you reflect
things that happen over time; phase 109 being a recent example where deferred
taxes drastically altered the way the ROElooked by product line. I assume we're
talking on a GAAP hourly basis.

MR. ROSCOE: dwas afraid somebody would ask that question, because I've spoken
somewhat fast by using terms like ROE. To be honest with you, within my com-
pany, the analysis that I spoke of is carried out on a statutory ROI basis. This is the
only answer I'm going to be able to give today in answer to your question. We have
done a prior analysis where we related a statutory internal rate of return to a GAAP
return on equity. Don Sondergeld, a former chief actuary at I-IF Hartford, has done a
lot of work in that regard. The questions that you brought up don't have anywhere
near the impact on a statutory basis.
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